

WHAT MAKES TEN?

Complete the addition sentences with the missing addend to make a sum of ten.

$6 + \underline{\quad} = 10$

$\underline{\quad} + 3 = 10$

$3 + \underline{\quad} = 10$

$\underline{\quad} + 2 = 10$

$7 + \underline{\quad} = 10$

$\underline{\quad} + 4 = 10$

$4 + \underline{\quad} = 10$

$\underline{\quad} + 3 = 10$

$8 + \underline{\quad} = 10$

$\underline{\quad} + 5 = 10$

$5 + \underline{\quad} = 10$

$\underline{\quad} + 4 = 10$

$9 + \underline{\quad} = 10$

$\underline{\quad} + 7 = 10$

$7 + \underline{\quad} = 10$

$\underline{\quad} + 5 = 10$

$3 + \underline{\quad} = 10$

$\underline{\quad} + 8 = 10$

$8 + \underline{\quad} = 10$

$\underline{\quad} + 7 = 10$

$2 + \underline{\quad} = 10$

$\underline{\quad} + 9 = 10$

$9 + \underline{\quad} = 10$

$\underline{\quad} + 8 = 10$

$4 + \underline{\quad} = 10$

$\underline{\quad} + 6 = 10$

$6 + \underline{\quad} = 10$

$\underline{\quad} + 9 = 10$

$1 + \underline{\quad} = 10$

$\underline{\quad} + 4 = 10$

$2 + \underline{\quad} = 10$

$\underline{\quad} + 6 = 10$